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Problem (1)  [8 points]
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Find the electric field intensity at the point 
[image: image4.wmf])

,

0

,

0

(

H

P

 due to the line charges shown in Fig. 1.








           
   Fig. 1
Problem (2)  [10 points]

An infinitely long line charge 
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 is placed along the axis of a cylindrical shell of inner radius "a", outer radius "b" and volume charge density  
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 (where 
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 is the radial distance of the cylindrical coordinates measured from the axis. 

i- Use Gauss law to find the electric field at all values of  
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ii- Calculate the potential difference between a point at
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and a point at 
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Problem (3)  [12 points]

(a) An infinitely long line charge carry a charge distribution of 
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 which produces an electric filed 
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  calculate the flux passing through a window at 
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(b) The electric potential at 15 cm from a positive charge is 12 kV.  What is the magnitude of the charge ?  Determine the radius of the equipotential surface at which the potential is (a) 18 kV (b) 3kV.

(c) An infinitely long line charge carry a charge distribution of 
[image: image17.wmf]l

ρ

 
[image: image18.wmf]m

C

/

, calculate the energy stored in the region 
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�EMBED Equation.3���
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